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QUESTION 1

An architect is designing a company\\'s hybrid cloud environment. Traffic between their local data center and VMC on
AWS software-defined data center (SDDC) requires a high-speed, low latency connection. The connection type should
also support connectivity to services currently being consumed in AWS. Which connection type will meet these
requirements? 

A. Multiprotocol Label Switching (MPLS) 

B. AWS Direct Connect 

C. Four IPSec tunnels for greater bandwidth and resiliency 

D. Route-based VPN 

Correct Answer: B 

 

QUESTION 2

Which statement is true regarding how vSphere High Availability (HA) provides rapid recovery from outages in VMware
Cloud on AWS? 

A. Sphere HA restarts virtual machines if their host becomes isolated on the VMware vSAN network. 

B. vSphere HA restarts impacted virtual machines on another host when an application fails. 

C. vSphere HA is enabled by default in VMware Cloud on AWS but can be disabled or modified. 

D. vSphere HA restarts impacted virtual machines (VMs) on another host when a VM stops sending heartbeats or the
VM process fails (vmx). 

Correct Answer: B 

 

QUESTION 3

Due to a recent acquisition, an architect is being asked to identify and design a cloud-based solution that will assist in
merging several data centers together without incurring undue operational overhead while adhering to a very strict
project timeline. The proposed solution must have the capability to be rapidly recovered in the event of a cloud provider
outage. After careful consideration, the architect determines that VMware Cloud on AWS would be an appropriate
solution, requiring a total of nine hosts for capacity. Which additional configuration options would satisfy the
requirements of this project? 

A. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stand-alone cluster. Deploy a
second stand-alone cluster into the SDDC in a separate region. Configure VMware Cloud Disaster Recovery to replicate
and protect workloads to the second cluster. 

B. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stretched cluster across two
separate availability zones. Configure the cluster to ensure that all virtual machines can be restarted in the second
availability zone with a near zero recovery point objective (RPO) in the event of any environment or system failures. 

C. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stretched cluster across two
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separate regions. Configure the cluster to ensure that all virtual machines can be restarted in the second region with a
near zero recovery point objective (RPO) in the event of any environment or system failures. 

D. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stand-alone cluster. Deploy a
second SDDC with a stand-alone cluster into a different AWS region. Configure VMware Cloud Disaster Recovery to
replicate and protect workloads to the second cluster. 

Correct Answer: B 

 

 

QUESTION 4

When configuring Hybrid Linked Mode from the vCenter Cloud Gateway appliance, which groups are mapped from a
customer\\'s on-premises environment to the cloud? 

A. LDAP Groups 

B. vSphere Groups 

C. Active Directory Groups 

D. Local Groups 

Correct Answer: C 

 

QUESTION 5

The Tier-O (TO) router will send northbound packets through which device? 

A. The AWS Elastic Network Adapter (ENA) of the VMware ESXi host that the active TO Edge virtual machine is
currently running on. 

B. The AWS Elastic Network Adapter (ENA) of the VMware ESXi host where the packet is originating from. 

C. The AWS Elastic Network Adapter (ENA) of the VMware ESXI host that the passive TO Edge virtual machine is
currently running on. 

D. The AWS Elastic Network Adapter (ENA) of the VMware ESXi host that is currently the least utilized. 

Correct Answer: C 
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